
Answer each question by writing the letter.

Which bug is bigger? ____ Which bug is smaller? ____

A B

Which teddy bear is the biggest? ____ Which teddy bear is the smallest? ____

A B C D E

Which butterfly is the biggest? ____ Which butterfly is the smallest? ____

A B C

Which caterpillar is the biggest? ____ Which caterpillar is the smallest? ____

A B C

Which elephant is the biggest? ____ Which elephant is the smallest? ____

A B C D

 2024-11-23 01:12:26    Page 1/2

ReadWriteCompute.com, Creative Commons License

www.readwritecompute.com
www.readwritecompute.com


Answers

Bug A is bigger, bug B is smaller.

Teddy bear A is the biggest, teddy bear D is the smallest.

Butterfly C is the biggest, butterfly A is the smallest.

Caterpillar C is the biggest, caterpillar B is the smallest.

Elephant D is the biggest, elephant C is the smallest.
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